5 8 0 DAfThAINEF RS AR - HFR 2 /R Fil
#:K+Y/=w% (FR2156A2B (K)
( FRI-7BIHEB )

@R 22 70)

1 2 3 4 5 6 7 8 9 10| 11| 12 |&Et| E
ZHH 3 1 1 3 4 1 1 14 | —
INTVIZwD 2 0O O 2 2 1 4 11 O
IRLEBHKES | 1 o|o0| 00| O0] O 1 1
ZHH 1 ol 2 ol o]| o] o 3 | —
[(BF) <HRULEERKRS>
7| IR K& 1@ | 2@ | 3@ | 4@ | 5@ | 6@ | 70 T | 2 | fIm | B8 | X8
1 7 | momt | wx 1557 ) 3
2| 6 | rmwE | B8O D 187 3
3| D | 8K | =& TR =ik 3 1
4 4 | mrEz [ £z By o 3 1 1
51 3 [ wnxe | w1y o) POIR 3
6| 5 | =Epiom =iR D on) 3
71 9 | mEs3 ) ot a) 3 1
g2 | SBEA fia) — 7R \ 2
H | mras —7 |\ 1
ol 8 | g ia) \ 2 1
(12F]) <HORUVUEEKRS> I@
K2 g 1E |BRY| 247 |eem| B |WER| =ik | km (B8n| (WEBEF] 2085
EER 466 25 | 88 | 11 4 1 6 6 | [Z21]] mrFaEz
BhEE 1.33 8 [ 40| 2 2 1 3 3 | [Z847]
=W 1 6 | 27 | 1 1 2 2 | [RET]
(F) <HIRULEERKRS>
23 BRIR TEp= RS BER
EETIN 1 1
(BF) <INFTVYZwo>
1| 9% Kg 18 (28 [ 3@ | 4B | 5B | 6@ | 70 8 |z | s | B2 | &%
11 7 A EES t= | =R BEER 5 1 1
2| s 1RO = | &® =R EREES 5 1 1
3 4 E 1ETR da] 68l | BEl | 'R 5 3 2 (1)
4] 3 BrE | 6= R chan | s | w0 5 2 2
5D =m0 POBR o) B | mm 4 1
P 20 R 1
6 2 O BELD EEE 4 | 2 1
71 o BhF | AR %37 | o= BEER 4 1 1
8| 5 | ziz@ Gal £= | m®|\ e 2 | 2 [ 1
ol 6 “R %17 a7 | B8 \ £ 4 | 2 2
[BF] <NFYZwI> (7 mazma] [ =vawe
K2 @ & (IR =47 | Gem | 1847 || =ik | &m (B=x| (BARF) A0E
BhE 6 22 | 64 3 2 1 3 1 1 [TE£47) wn 2\ %7, BP%
A 1 4 |17 1 (=24) RO, BB
[(R£47)
(fF) <IN\FTYZwDI>
23 BRI TEp= HRE BEH

AR




